
The company has ."" 
00 jars per

month at0'75 paise a jar. write a short report on the advisability or otherwise of accepting the
offer.

a gD.(6"fine Budget.

" -.fiDxplai n B ud getary Control.
y'c) What are the advantages and limitations of budgets.

Q.(7) (a) write a brief note on Break even Anarysis.

(i) what sares are required to show a profit ofRs. z5,o0o :<(ii) Whnt nrnfir oh^,,t.t -^ ^^-:^;;-^-] !i p(ii) What profit should be earned from sales of Rs. 500000 -p' ^a(iii) What sales must be achieved at the Break even point. O{ oVY
LV

Or'

48) Write short notes on (Any 3) ,f
- i (ii) sjmetr.d eostiig \P/
-Mob Costing Df

ffi Activity Based Costing_/
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Q.(5) (a) Define Marginal Cost and Marginal Costing.
(b) Everest Snorv Company manulactures and seils cJirccr to 111" corlsunrcr 10.(XX).lars ol.l rcr.crr
Snorv per month at Rs. 1.25 paise per jar. Tlre Companyts normal producrion capacity is 20.0(X)

r 10,000 Jars is given below:
Direct.

Material
Direct

Labour
Power Misc.

Supnlies
Jars Fixed

Expenses
Rs. r 000 2475 140 430 600 795s
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